EARAROBEEIERT — 2 N— IBISH —F

2017547168 (B) 1EIEHM4E

IR —tHHEE Yo R4mE

(xwlw | mEmml - |5 @) oo s

[A~&£] 1 7% 2,000,000 § ~ 23 :500,000 37 :250,000 "

4 7% 150,000 . 5 3& : 100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
PR LNk GIN :04. ~5-4- . — AARREE) (FH)
il7lgl €73 o7 =l 2((21)9 5-5-4-1 | 38.0 2 (5_151) g%)ﬁ%
L:ZNAF¥1—)b B:ebh/ U1K AR R
47 | EEER 2:06.0 1-1-1-2 | 41.0| — 3 504 | BBfEMEAE (BHD)
2 o | AAAR 57.0 (5) (5) | B) TEREN
R:YIRG4 TR B:)—T1v— [/ e ]
A . oo _ HEEX (&)
3 4| wvenz 7 e (27;(;?% 2-2-2-3 | 40.9 1 ?g; /J\%ﬁjz
RNTNWALTzA— B:ATUITZXFa> THRERS
= t> 5| BIE 2:06.2 3-3-2-5 |41.1| — 6 507 | TSR (SH)
4lgl10 7Lx85 > A (3/8) (o) |ERE
L:ZAN—3I2FFR—L BR/—-TL—72 H—L— - JvX> - T7—LARS
S . FREMER :06. -8-6- . - HEhE (SH)
sl x1vamviLra o7 ) 2(10/62>3 8-8-6-6 | 40.6 4 (4;4) }gﬁag_
RiAfavkR—5— B:XV) NG
j S TRE :06. ~4-5- . = HEENX (SH)
N AEEY # o [T aa | o || = [T | A
R:wNyBLHhTr B:9I5—Y () #AaI—-KL—va>@AET 7
- RN [ 4 2575 : —7-8- — HBEIEX ()
7lglg| V7—FLTO> # o9 i 2.(067>.8 6-7-8-8 | 41.7 5 zzgz EEF&%E
LB/ F¥LLY b BUT—RA—H> HREH UT— K
K N 49 | BAKH 2:08.3 7-6-7-7 | 42.4| — 8 408 | HEIEX (BF)
EH 6 Yrird o =/N= 57.0 (2 1/2) +1) 1ERERS
LRz —N— B:F-0OJkx iibrae]
> o4 | BREE—EB 2:08.8 9-10-10-10 | 43.5 | — 9 494 | FTBBIE (BH)
9155 1T 57.0 (21/2) (+10) | BAEEE
RA=IX1 2214 B2 TUdT7q4— EdHTT— L
) S 39 4 7 | EENF 2:09.8 10-9-9-9 [43.3| — 10 | 489 |BIRFEE (FH)
10887 |73 73—~ 57.0 (5) 4g) | B A—k-T-2
R:EA I —Ty BTIAT 4TINS — ke
® 1—F—@EBIERL
13—7+— 2,4,10,3,8,9,6,1,5,7
20—F— 2,4,10,3,8,6,9,1,7,5
Ja=5= 2,(4,10),8,3,1,6,9,7,5
40—F— 8,2,4,3,10,1,6,9,7,5
[ /N
B 8 270M 714K 2-8 390M e E 2-7 1,420 JEE 2-4-8 550M
B B 8 110H 4-8 130H B = 2-8 1,410 JEE 8-2-4 4,280
2 170 2-4 280M B H 8-2 2,310
4 110

ABICOVWTRDTEEERROODE. TR LIV,




